If you have received a diploma from the education system of one of these countries, you will need to have it nostrified.		
Afghanistan	to have it nost mea.	
Albania		
Algeria		
Andorra		
Angola		
Antigua and Barbuda		
Argentina		
Armenia	documents issued after 6.08.2004	
Azerbaijan		
Bahamas		
Bahrain		
Bangladesh		
Barbados		
Belarus	documents issued after September 29, 2005.	
Belize	,	
Benin		
Bermuda		
Bhutan		
Bolivia		
Bosnia and Herzegovina	documents issued after 1.02.2006	
Botswana		
Brazil		
Brunei		
Bulgaria	documents issued until 1.01.2007	
Burkina Faso		
Burundi		
Cambodia		
Cameroon		
Cape Verde		
Central African Republic		
Chad		
Chile	documents issued until 7.05.2010	
Colombia	documents issued until 28.04.2020	
Congo		
Cook Islands		
Costa Rica	documents issued until 15.05.2021	
Croatia	documents issued until 1.07.2013	
Cuba	documents issued until 30.01.1975 and after 6.08.2004	
Cyprus	documents issued until 1.05.2004	
Democratic Republic of Congo	documents issued diffil 1.05.2004	
Djibouti		
Dominica		
Dominican Republic		
East Timor		
Ecuador		
Egypt El Salvador		
LI JdIVdUUI		

Equatorial Guinea	
Eritrea	
Eswatini (until 18.04.2018 Swaziland)	
Ethiopia	
Fiji	
Gabon	
Gambia	
Georgia	
Ghana	
Grenada	
Guatemala	
Guinea	
Guinea-Bissau	
Guyana	
Haiti	
Honduras	
Hong Kong	
India	
Indonesia	
Iran	
Iraq	
Israel	documents issued until 10.05.2010
Ivory Coast	
Jamaica	
Jordan	
Kazakhstan	documents issued up to 30.1.1975 and after 29.9.2005
Kenya	1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
Kiribati	
Komory	
Kosovo	
Kuwait	
Kyrgyzstan	documents issued up to 30.1.1975 and after 6.8.2004
Laos	
Lebanon	
Lesotho	
Liberia	
Liechtenstein	documents issued until 1.01.1991
Macau	
Madagascar	
Malawi	
Malaysia	
Maldives	
Malta	documents issued until 1.05.2004
Marshall Islands	
Mauritania	
Mauritius	
Mexico	documents issued until 18.05.1994
Micronesia	

Monaco Mongolia documents issued until 30.01.1975 and after 6.08.2004 Montenegro documents issued after 24.01.2006 Morocco Mozambique Myanmar Namibia Nauru Nepal Nicaragua Niger Niger Niger Nigeria North Macedonia documents issued after 8.02.2006 Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007	Moldova	documents issued up to 30.01.1975 and after 6.10.2005
Mongolia documents issued until 30.01.1975 and after 6.08.2004 Mortenegro documents issued after 24.01.2006 Morocco Mozambique Myanmar Namibia Nauru Nepal Nicaragua Niger Nigera Nigera North Macedonia documents issued after 8.02.2006 Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Serigal Cocuments issued until 1.05.2004	Monaco	5.25.2555
Morocco Mozambique Myanmar Namibia Nauru Nepal Nicaragua Niger Niger Nigeria North Macedonia Oman Pakistan Palau Palau Palau Palau Palau Palau Paraguay Perru Philippines Perru Philippines Puerto Rico Qatar Romania Romania documents issued until 1.01.2007 Russia Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Seveplales Sereja Serera Leone Siingapore Slovenia documents issued until 1.05.2004		documents issued until 30.01.1975 and after 6.08.2004
Mozambique Myanmar Namibia Nauru Nepal Nicaragua Niger Nigeria Niue North Macedonia Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania Russia Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Serebia Sepela Serbia Selection Signapore Slovenia documents issued after 24.01.2006 Seychelles Sierra Leone Siingapore Slovenia documents issued after 24.01.2006 Seychelles Sierra Leone Siingapore Slovenia documents issued after 24.01.2006	Montenegro	documents issued after 24.01.2006
Myanmar Namibia Nauru Nepal Nicaragua Niger Niger Nigeria Nitue North Macedonia documents issued after 8.02.2006 Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 3.0.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Siingapore Slovenia documents issued after 24.01.2006	Morocco	
Namibia Nauru Nepal Nicaragua Niger Nigera Nigera North Macedonia Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania Romania Romania Romania Romania Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia Selevalia Sigra Leone Singapore Slovenia Mocuments issued until 1.05.2004	Mozambique	
Nauru Nepal Nicaragua Nigeria Niue North Macedonia Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Quar Romania Romania Romania Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino San Marino San Ome and Principe Islands Saudi Arabia Senegal Serbia Selevalia Selevalia Silevalia Silevalia Sourments issued after 24.01.2006 Seychelles Silerra Leone Singapore Slovenia documents issued until 1.05.2004	Myanmar	
Nepal Nicaragua Niger Niger Nigeria Niue North Macedonia documents issued after 8.02.2006 Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Seucha Issued until 30.01.2006 Seychelles Seierra Leone Singapore Slovenia documents issued after 24.01.2006	Namibia	
Nicaragua Niger Nigeria Niue North Macedonia Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Saint Lucia Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Sericia Se	Nauru	
Niger Nigeria Niue North Macedonia documents issued after 8.02.2006 Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued after 124.01.2007	Nepal	
Nigeria Niue North Macedonia documents issued after 8.02.2006 Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued antil 1.05.2004	Nicaragua	
Niue North Macedonia documents issued after 8.02.2006 Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued after 1.05.2004	Niger	
North Macedonia documents issued after 8.02.2006 Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued until 1.02.006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Nigeria	
Oman Pakistan Palau Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Serejia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued antil 1.05.2004	Niue	
Pakistan Palau Palestine Panama Papua New Guinea Perru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued antil 1.05.2004	North Macedonia	documents issued after 8.02.2006
Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Rwsia dsint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Oman	
Palestine Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia dosaments issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Pakistan	
Panama Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Palau	
Papua New Guinea Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Palestine	
Paraguay Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Panama	
Peru Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Papua New Guinea	
Philippines Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Paraguay	
Puerto Rico Qatar Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Peru	
Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Philippines	
Romania documents issued until 1.01.2007 Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Puerto Rico	
Russia documents issued until 30.01.1975 and after 25.09.2005 Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Qatar	
Rwanda Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Romania	documents issued until 1.01.2007
Saint Kitts and Nevis Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Russia	documents issued until 30.01.1975 and after 25.09.2005
Saint Lucia Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Rwanda	
Saint Vincent and the Grenadines Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Saint Kitts and Nevis	
Samoa San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Saint Lucia	
San Marino Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Saint Vincent and the Grenadines	
Sao Tome and Principe Islands Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Samoa	
Saudi Arabia Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	San Marino	
Senegal Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Sao Tome and Principe Islands	
Serbia documents issued after 24.01.2006 Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Saudi Arabia	
Seychelles Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Senegal	
Sierra Leone Singapore Slovenia documents issued until 1.05.2004	Serbia	documents issued after 24.01.2006
Singapore Slovenia documents issued until 1.05.2004	Seychelles	
Slovenia documents issued until 1.05.2004	Sierra Leone	
	Singapore	
Solomon Islands	Slovenia	documents issued until 1.05.2004
	Solomon Islands	
Somalia	Somalia	
South Africa	South Africa	
South Korea documents issued up to 12.12.1996	South Korea	documents issued up to 12.12.1996
South Sudan	South Sudan	·

Sri Lanka		
Sudan		
Suriname		
Syria	documents issued after 1.12.2006	
Taiwan		
Tajikistan	documents issued until 12.11.1974 and after 8.12.2005	
Tanzania		
Thailand		
The Democratic People's Republic of Korea	documents issued until 30.01.1975 and after 6.08.2004	
Togo		
Tonga		
Trinidad and Tobago		
Tunisia		
Turkmenistan		
Tuvalu		
Uganda		
United Arab Emirates		
Uruguay		
Uzbekistan	documents issued until 30.01.1975 and after 6.08.2004	
Vanuatu		
Vatican City		
Venezuela		
Vietnam	documents issued until 30.01.1975 and after 6.08.2004	
Yemen		
Zambia		
Zimbabwe		